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Exercise 7.9

Question 1:

'cxzx+lﬂt1r

Answer

x
r ——dx
Pt +1

Letx’ +1=¢ = 2xdx=dr

Whenx =0,t=1andwhenx=1,t=2
j:,Ldr:lfﬂ
x +1 24 ¢
1 2
= [ loglt(]

= : log2 —logl
2

l
= 5 log 2
Que:
L— \sing cos’gd ¢
Answer

Let/ = [*\/sinfcos’gdg = [*/sing cos'gcos g dg

Also. let SiN¢ =1=> cosgdg = dr
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Answer

Let! = Esin ' 2'*1%
1+ x

A

Also, let x = tan@ O dx = sec®6 d6

ﬁ—j[
When x =0, 86 = 0 and when x = 1, 4
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I= _[4 sin '[ﬂ}sec: ado
b l+tan” &
= _[J'Hin'1 {ﬁin ZE}EEEEH.‘J’&
= L* 20-sec’ 0dO

=2|"0-sec’ Bd@

Taking®as first function and sec?8 as second function and integrating by parts, we obtain

I= 2|:5'Jst:t:2 6do - {[EEJ jseclﬁdﬁ'}n’f}}
ok

:E[Stanfn‘— _[tanf)dﬁ]g

[i]

=2 [E tan & + log |¢"-"5‘5"|].$

W T
=2| —tan—+log|cos—
4 4 4

—log CDSU|:|

n 1
=2 —+|or( — [—log]
1 gl — ] f_—:|

1\"

x |
=2 I—Elugz

Question 4:

fx\m {:Pul_r+2=.f3]
Answer

fnmﬂit

Let x + 2 = £ O dx = 2tdt

When x = 0, =2 and whenx =2,t=2
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o [Fare 2d = Eﬁ(:* 2 21
- 2[2{;3 ~2)dr
=2 Ei(r* -2 )d.!
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I—' —dlx
b 1+ cos” x
Answer

& il
=~ sinx
.[)2 2 a
l+cos” x

Let cos x = t [0 —sinx dx = dt

T
x=—,t=10
When x = 0, t = 1 and when 2
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Question 6:
[—%
x+4-x"
Answer
2 d 2 dv
el
r el
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Question 7:

f dy
Ix® +2x+5

Answer

£ v _£ d _[ dy
1yt 4+2x+5 ‘(:n;2 +2r+1)+4 '[.\:+1}:+{2}:

letx+ 1 =t0Odx=dt
Whenx = -1, t=0andwhenx=1,t=2

. dx 3 dt
' [l{x+l}2+[2]: -1 42

B
=|-tan  —
2 2],

1 |
=—tan 'I——tan”' 0
o |

Que

T I A
(1o )ea
Lx 2x

Answer

G0 | 4P
(e e

Let 2x = t 0 2dx = dt
Whenx =1,t=2andwhenx=2,t=4
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(1 Y, 1 p(2 20,
r[x zxzje dx Z'E(: Iz]edx‘
=f(l—é]e'nﬂr
VAN
Let 1= £ (1)
Then. (1) :_IL"'

= _E(:—::]e“m‘: J:e." [ £(e)+ £ (¢) ] et

on 9.
1
(.r—f}-‘
F—de
The value of the integral - + is
A.6
B. 0
C.3
D. 4

Answer
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(x-2)
Letf = |de
k]

Also, letx=sinf = dv=cosfd8

Whenx = l B=sin"’ [l] and whenx=1. 8= T
3 3 2
o
, y (sinEl—sin"El)-‘ 0.6
=== | ——— Q05
-[uu 1] sin' 0

1 1
I infYy:{1=si ]g}
=L3 _I_(Sm }(4 o ] cos 0 0
||"..:~| k111 B

* o (sin B}l (m‘:ﬁﬂ)-_:‘-

-[...-' H sin*@

| P
5 (sin@)5 (cosB)
B -[...'|_—f~'| sin” Osin” 0

cos 0 d8

cost d8

g 0
= [ , (cos ] —cosec 0 d0
BRE i:}ii]'lﬂ}

—_[ , uslﬂ  cosec’d dB

Let cotf = t [0 —cosec26 db6= dt
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A
When # =sin' [%J t=2J2 andwhenti=".r=0

k2 | =

3
—gll‘f']
=3=2
=0

Hence, the correct Answer is A.

» f(x)= Ersinm’r.thm_{'[x:]is

A. cos x + x sin x
B. x sin x
C. x cos x
D. sin x + x cos x

Answer
f(x)= [ tsintdr

Integrating by parts, we obtain
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flx)= :_Esinm’r - f{[%r] _[sin tdf}dt
=[#(-cosr)] - E{—msr}dr

= [~tcost+sint];

=—xCosx+siny

= f"(x)= —[{x{—sin x )} +cos x]+ COS X
=xs8inx—COSx+CosXx
=xsinx

Hence, the correct Answer is B.
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